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Private Financial Securities

 

  

  

  

   

  

  

 Bonds 

 Mortgage and Debenture Bonds 

 

 

 callable Bonds-Callable and non 

 

 Convertible bonds-Convertible and non

  

 

 Commercial Papers
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 Preferred Stocks
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 

 

 

 

 

 

 

 

 Common Stocks 

 

 

 

 Cash Dividend

 Stock Dividend

 Property Dividend

 Warrants

 

 Exercised Price

 

 

 
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 Option Contracts

 

 Underwriters

 

 

 

 Call option

 onPut opti

 Future Contracts

  

 

 

 

 

 

 Mutual Funds

 

 

 

 Financial Market
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  

 

 

 

 

 

 

 Broker 

 Market maker 

  

 

 

 

 

 

 

 

 Organized Market

 Stock Exchange

 

 Over the Counter Market (OTC

 

 
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 Eurodollar

  
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 بحمد الله ،، تم
إن كان كم ما به صحيخ فهذا فضلاً مه الله وكزمه وإن كان به خطأ فهى مه وفسي ومه انشيطان.و  

 وأسأل الله لي ونكم انتىفيق واننجاح في هذا المقزر وتحقيق أفضم اندرجات.

انىقت انكثير ودعىاتي نكم بانتىفيق.دعىاتكم فهذا انعمم أخذ مني الجهد و  

 أخىكم / شيءٌ آخز ) أبى فيصم (


